
«<
|V

X

T

^X

X
II

o

X^x

1
X

/

X'

X:
T

-I £

Trr

■X

X
X-

X
x:
X'

X'

>

X
X

J
X'

>x\

X 3>

of N^iXpX

'. w 

cc

y

X

rr ft 
oh
Zs|

Ct g mH

o

LU

1

I

H-

z <d/A
* §r- O/K

□JODs
F—i sO^il

I—11—13 R

>°i i 
sW

!
—l!±

ry^ ' i\j

ROOF FRAMING PLAN NOTES

1. ALL ELEVATIONS ARE REFERENCED FROM 192.50'.

2. VERIFY ALL DIMENSIONS WITH THE ARCHITECTURAL DRAWINGS. 
GRIDLINES ARE LOCATED AT OUTSIDE FACE OF CONCRETE MASONRY 
WALLS AND/OR COLUMN CENTERLINE.

3. DETAILS ON THESE PLANS ARE INTENDED TO DEPICT THE GENERAL 
CONSTRUCTION METHODS FOR THIS STRUCTURE.  CONNECTIONS, 
DETAILS AND CONDITIONS NOT SPECIFICALLY SHOWN THAT ARE 
SIMILAR TO THOSE THAT ARE SPECIFIED SHALL BE ASSUMED ONE AND 
THE SAME.  IF QUESTIONS REGARDING THE APPLICATION OF DETAILS 
ARE ENCOUNTERED, NOTIFY THE ARCHITECT / ENGINEER FOR 
CLARIFICATION IN A TIMELY MANNER PRIOR TO BID OPENING.

4. REFERENCE MEP DRAWINGS FOR ALL ELEVATIONS, PIPE 
PENETRATIONS, ETC. REFER TO STRUCTURAL DETAILS 
CORRESPONDING TO SPECIFIC ITEMS SUCH AS PIPE PENETRATIONS, 
OPENINGS, ETC.

5.      INDICATES SPAN DIRECTION OF 1 1/2" TYPE B METAL ROOF 
DECK, 22 GAGE, GALVANIZED (G90).

6. FASTEN 1 1/2" TYPE B STEEL ROOF DECK TO STEEL SUPPORTS IN THE 
FIELD WITH HILTI X-ENP19 PAF IN A 36/4 PATTERN AND HILTI X-ENP19 PAF 
SIDE LAP FASTENERS AT 6" OC. REFER TO MANUFACTURER'S 
INSTRUCTIONS FOR INSTALLATION. FASTENER SUBSTITUTION 
ACCEPTABLE UPON APPROVAL OF PROPOSED FASTENER 
DOCUMENTATION BY THE EOR. 

7. BOTTOM OF DECK ELEVATION IS INDICATED PER PLAN.

D1

1 0

B.3

B.7

8' - 10 1/2"
B/DECK

4' - 10 1/2"

EOD

10"

1
' -

 7
 2

3
9
/2

5
6

"

1
2

' -
 2

 1
/2

"

1
' -

 8
 1

7
/2

5
6

"

4
" 

/ 
1
2

"
4

" 
/ 

1
2

"

2

S600

3

1

S600

4

S600

D1

3

S600

8' - 10 1/2"
B/DECK

10' - 11"
B/DECK

T/BEAM 8' - 3 1/2"

T/BEAM 8' - 3 1/2"

1

S600

4

S600

4

S600

1

2

2

3

3

4

1
5

' -
 6

 1
/2

"

6
' -

 1
 1

/4
"

6
' -

 1
 1

/4
"

MASONRY 
WALL PER PLAN

5' - 8 1/2"

RAFTER, PER PLAN

600T125-43 FASCIA

HSS POST, PER COLUMN SCHEDULE

BUILT-UP COLD FORMED METAL STUD 
BOX BEAM, PER PLAN; ATTACH TO 
COLUMN CAP PLATE W/ (4) #10 SCREWSPL 1/4x6 1/2x 0'-6 1/2" 

COLUMN CAP PLATE

PER PLAN
T/BEAM

SIMPSON MTS12 (43 MIL); 
ATTACH TO TIE AND BUILT UP 
BEAM W/ (8) #10 SCREWS

CFMF TIE, PER PLAN

ATTACH RAFTER TO TIE W/ (5) #10 HEX 
HEAD EXTERIOR METAL SCREW

SIMPSON L30 W/ (2) #10 SCREWS TO 
TIE & (2) #10 SCREWS TO BEAM

B.7 METAL ROOF DECK, PER PLAN

1/4

PER PLAN
B/DECK1

" 
M

IN

1
" M

IN

SIMPSON L30 W/ (2) 
#10 SCREWS TO 
RAFTER & (2) #10 
SCREWS TO FASCIA

PER PLAN

EOD

B.3

CFMF RAFTER, PER PLAN

BUILT-UP CFMF RIDGE 
BEAM PER PLAN 

METAL ROOF DECK, PER PLAN

SIMPSON LS30 CLIP ANGLE W/ 
(3) #10 SCREWS TO RIDGE & (3) 
#10 SCREWS TO RAFTER, TYP

SIMPSON MSTA18 (43 MIL/18 GA), 
ATTACH TO RAFTER W/ (6) #10 
SCREWS EA SIDE OF RIDGE

0

ROOF DIAPHRAGM BOUNDARY 
CONNECTION PER ROOF FRAMING 
PLAN NOTES

RAFTER, TYP, PER PLAN

STEEL DECK, PER PLAN

HSS POST, PER COLUMN SCHEDULE

BUILT-UP COLD FORMED METAL STUD 
BOX BEAM, PER PLAN; ATTACH TO 
COLUMN CAP PLATE W/ (4) #10 SCREWS

PL 1/4x6 1/2x 0'-6 1/2" COLUMN CAP 
PLATE CENTERED ON COLUMN

PER COL SCHED
T/COL

PER PLAN

1

PER PLAN
T/BEAM

MASONRY WALL PER PLAN

NOTES:
1. SIMILAR CONDITION OPPOSITE HAND
2. RAFTERS NOT SHOWN FOR CLARITY 
3. MECHANICAL FASTENERS TO MASONRY WALLS SHALL 

NOT BE INSTALLED IN BED OR HEAD JOINTS
4. "CFMF" = "COLD FORMED METAL FRAMING"

MASONRY WALL PER PLAN

MASONRY WALL PER PLAN

ATTACH LEDGER TO 
MASONRY WALL W/ 5/8" Ø 
HILTI HY-270 @ 18" OC; EMBED 
3 1/8", STAGGER VERTICALLY 

ROOF DIAPHRAGM BOUNDARY 
CONNECTION PER ROOF FRAMING 
PLAN NOTES

STEEL DECK, PER PLAN

BUILT-UP CFMF RIDGE 
BEAM PER PLAN 

SIMPSON L30 W/ (2) #10 
SCREWS TO LEDGER & (2) 
#10 SCREWS TO RIDGE

(2) 800T150-54 CFMF NESTED 
LEDGER W/ (2) #10 SCREWS AT 16" 
OC, FLANGE TO FLANGE

BUILT-UP CFMF BEAM 
PER PLAN 

SIMPSON L30 W/ (2) #10 
SCREWS TO LEDGER & (2) 
#10 SCREWS TO BEAM

BOND BEAM PER S200s

(2) 800T150-54 CFMF 
NESTED LEDGER

(2) 800T150-54 CFMF NESTED 
LEDGER W/ (2) #10 SCREWS AT 16" 
OC, FLANGE TO FLANGE

CONT. L8x6x7/16 (LLH) W/ 5/8" 
Ø HILTI HY-270 @ 48" OC MAX, 
EMBED 4" 

CONT. L8x6x7/16 (LLH) W/ 5/8" 
Ø HILTI HY-270 @ 48" OC MAX, 
EMBED 4" 

CONT. L8x6x7/16 (LLH) W/ 5/8" 
Ø HILTI HY-270 @ 48" OC MAX, 
EMBED 4" 

ROOF DIAPHRAGM BOUNDARY 
CONNECTION PER ROOF FRAMING 
PLAN NOTES

STEEL DECK, PER PLAN

RUNNER TRACK (TOP & 
BOTTOM) PER PLAN

#10 SCREWS @12" OC

#10 SCREWS @12" OC

BUILT-UP STUDS PER PLAN

WARNING - IT IS A VIOLATION OF NEW YORK EDUCATION LAW SECTION 7209.2, FOR ANY PERSON, UNLESS HE IS ACTING UNDER THE
DIRECTION OF A LICENSED PROFESSIONAL ENGINEER OR LAND SURVEYOR, TO ALTER THIS DOCUMENT IN ANY WAY.  IF ALTERED THE
ALTERING PERSON SHALL COMPLY WITH THE REQUIREMENTS OF NEW YORK EDUCATION LAW, SECTION 7209.2.

R
E

V
IS

IO
N

S

SHEET:

D
A

T
E

:

D
R

A
W

N
 B

Y
:

S
C

A
L

E
:

R
E

V
IE

W
E

D
 B

Y
:

P
R

O
J
E

C
T

 N
O

.:

F
IL

E
:

D
E

S
C

R
IP

T
IO

N
D

A
T

E
N

O
.

W
W

W
.D

E
L
A

W
A

R
E

E
N

G
IN

E
E

R
IN

G
.C

O
M

D
E

L
A

W
A

R
E

E
N

G
IN

E
E

R
IN

G
, 

D
.P

.C
.

C
IV

IL
 A

N
D

 E
N

V
IR

O
N

M
E

N
T

A
L

 E
N

G
IN

E
E

R
IN

G

A
s
 i
n
d

ic
a
te

d

S600

P
O

R
T

IC
O

 P
LA

N
 A

N
D

 D
E

T
A

IL
S

P
O

R
T

 E
W

E
N

F
IR

E
 D

E
P

A
R

T
M

E
N

T
U

LS
T

E
R

, N
E

W
 Y

O
R

K

E
N

K

0
6
.1

9
.2

0
2

3

C
A

M

2
1
-2

3
4

3

P
O

R
T

 E
W

E
N

 F
IR

E
 H

O
U

S
E

B
ID

 S
E

T

1/2" = 1'-0"S600

5 PORTICO - PARTIAL PLAN
N.T.SS600

1 RAFTER AND TIE AT EAVE

N.T.SS600

2 RAFTER CONNECTION AT RIDGE

N.T.SS600

3 RAFTER AT BEAM

N.T.SS600

4 CFMF LEDGER AT MASONRY

#KEYNOTES

1 600S162-54 COLD FORMED METAL JOISTS (RAFTERS) AT 12" OC;
PROVIDE RAFTER TIES OF SAME SIZE AND SPACING AND ATTACH
PER 1/S600

2 BUILT UP COLD FORMED METAL STUD BOX BEAM PER 6/S600 TO BE
(2) 800S162-54 W/ 600T150-54 TOP AND BOTTOM TRACK

3 COLUMN PER S700

4 BUILT UP COLD FORMED METAL STUD BOX RIDGE BEAM PER 6/S600
TO BE (2) 800S162-54 W/ 400T150-54 TOP AND BOTTOM TRACK

N.T.SS600

6 BOX BEAM DETAIL

EXP. 01/31/2025


